Lieferung

-menge:int{menge > 0}

Geschiftspartner

+partner_nr:int

Artikel

<< PRIMARY KEY >>-art_nr:int
-artikel_bez:String
-beschreibung:String[0..1]
—ekpreis:float=1 {ekpreis > 0}
~vkpreis:float=1{vkpreis > ekpreis}
“h_spanne:FLOAT=0
—durchschnitt_ekpreis:int

-am:Date +name:String
+anschrift:String[1..*ordered[{ }
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1. * '\ liefert Lieferant Kunde

+ermittle_hsp():void
+getEkpreis():float
+setEkpreis(_ekpreis:float):void

+ stammt von *

*

+ st Teil von

+ist zusammengesetzt aus

*

konto_nr:String
-blz:String
-tnhaber:String

-umssoll:int=1000
-umshaben:int=0
-saldo:int=0




